Question Paper with Final (Revised) Regional Manager- held on 18-09-
Answer Key for the Post of HRTC 2020

Itemcode : RM1001
Q1: Interest rate swaps belong to which source of short term finance?

A |Bank finance

B |Financial Derivatives

Cc |Factoring

D |Forfaiting

Correct Ans: B

Itemcode : RM1002
Q2: Inventory is disclosed in financial statements under

A |Fixed assets

B |Current assets

C |Current liabilities

D |Non-Current liabilities

Correct Ans: B

Itemcode : RM1003
Q3: A reduction in the risk free rate the cost of equity

A |Reduces

B |Increases

C |May reduce or increase

D |Risk free rate does not impact cost of equity

Correct Ans: A

Itemcode : RM1004

Q4: Having a 10 year maturity ABC bond has an annual coupon rate of 9%. The bond price of ABC closed at 106%
of par value currently. Assuming that the par value of the bond is Rs.1,000/-, the annual current yield of the

bond is
A [8.15%
B [8.16%
C |9.00%
D |8.49%

Correct Ans: D

Itemcode : RM1005

Q5: Suppose stocks of ABC Ltd. are trading at a current price of Rs 26.75 and with current dividend of Rs. 1 per
share. You believe that over the long run company’s earnings and dividend will grow at 7%. For the long run,
you expect a nominal risk-free rate of about 6% and risk premium of 3%.
The required rate of return is:

A |9.00%

B |13.00%
C |11.00%
D [10.00%
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Correct Ans: C

Itemcode : RM1006
Q6:  Which of the following shows summary of a company's financial position at a specific date?

A | Profit & loss account

B |Cash flow statement

C |Balance sheet

D |Income & expenditure account

Correct Ans: C

Itemcode : RM1007
Q7:  Which of the following are revenue expenditures for an office equipment dealer?

1. sales promotion costs

2. warehouse extension costs

3. purchase of office equipment for resale

4. purchase of delivery vehicle for sales department

A |land?2
B |[land3
C (2and 4
D |3and 4

Correct Ans: B

Itemcode : RM1008
Q8: Net working capital means:

A | Current assets minus current liabilities

B |Total assets minus total liabilities

C |Total assets minus current assets

D |Current assets minus total liabilities

Correct Ans: A

Itemcode : RM1009
Q9: How would you arrange the different current assets in the order of liquidity?

A |Inventory, Cash, Marketable securities, Sundry debtors.

B |Cash, Marketable securities, Sundry debtors, Inventory.

C |Sundry debtors, Cash, Inventory, Marketable securities.

D |Marketable securities, Cash, Inventory, Sundry Debtors

Correct Ans: B

Itemcode : RM1010
Q10: The cost of equity is equal to the

A |Expected market return

B |Rate of return required by equity shareholders

Cc | Cost of retained earnings plus dividend

D |Risk the company incurs when financing

Correct Ans: B
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Itemcode : RM1011
Q11: Which of the following affects the cost of capital?

A |Risk Free Rate

B |Market Risk Premium

C |Market risk (Beta)

D |All of the above

Correct Ans: D

Itemcode : RM1012
Q12: Which of the following is true about Call Money Market?

i. It is a part of National Money Market

ii. Helps banks borrow from other banks without any collateral
iii. Helps maintain the CRR

iv. Loans having varying maturity from fifteen days to one year
v. The day-to-day surplus funds, mostly of banks, are traded in

Only (i), (ii) and (iii)

Only (i), (ii), (iii) and (v)

A
B
c | Only (i), (iii), (iv) and (v)
D |All of the above

Correct Ans: B

Itemcode : RM1013
Q13: With reference to requirements of effective appraisal systems, reliability refers to:

A |Clear links between the critical job elements

B | Translation of job requirements into levels of acceptable or unacceptable

Cc | Consistency of judgment

D |Ease of understandability & use of appraisal instruments

Correct Ans: C

Itemcode : RM1014
Q14: Job design is the process of

A |defining the way work will be performed and the tasks that a given job requires

B |the process of getting detailed information about jobs.

Cc |the process by which the organization attempts to identify suitable candidates for jobs.

D |enabling employees to learn job-related knowledge, skills, and behavior.

Correct Ans: A

Itemcode : RM1015

Q15: Paying an outside agency to do the work that an organization is unable or unwilling to do is called:

A | Outsourcing

B | Offshoring

C |Licensing

D |Franchising

Correct Ans: A

Itemcode : RM1016

Q16: With reference to approaches to multinational enterprises and labour relations, a strategy that authorizes local
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managers to handle everything is called

Hands off strategy

Strategic planning

A
B |Hands on strategy
C
D

Guide and advise strategy

Correct Ans: A

Itemcode : RM1017

Q17: With reference to the just cause standard of discipline, the order of events of administration of penalty for
undesirable work behavior, should be:

Investigation, Penalty, Notification

Penalty, Notification, Investigation

Notification, Investigation, Penalty

oOlo|lw | >

Investigation, Notification, Penalty

Correct Ans: C

Itemcode : RM1018

Q18: Hiring and firing employees en masse as per the need of the organization is an example
of

Offshoring

Telecommuting

Restructuring

olo|lwm | >

Total quality management

Correct Ans: C

Itemcode : RM1019

Q19: The process of ensuring that employees' activities and outputs match the organization's goals is
called

job analysis.

employee development

A
B |strategic management.
C
D

performance management.

Correct Ans: D

Itemcode : RM1020
Q20: A best practice scorecard includes

A |Impact measures of performance in view of input measures

B |Preparation / Readiness for specific measurable performance

Measurement of different perspectives of the business environment in view of the vision and strategy of the

C s
organization

D |Benchmarks for desired performance in various aspects of the work environment

Correct Ans: D

Itemcode : RM1021
Q21: Which of the following job requirements that can be fulfilled by HRD?

A | Current job requirements
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B |Future job requirements
C |Shop floor job requirements
D |Both current and future job requirements

Correct Ans: D

Itemcode : RM1022

Q22: Human resource management takes care of

A | Effective utilization of people for better performance
B |Development of people competence

C | The enhancement of performance and behavior

D |Management pro activeness

Correct Ans: A

Itemcode : RM1023
Q23: What type of decision is made after the training need assessment?

A |Identify employees needing training
B |Employee conduct

Cc |Employee-employer relation

D |Safety rules

Correct Ans: A

Itemcode : RM1024

Q24: Behavioural Method, lecture, business games etc. fall under in which of the following training delivery methods:

A | On the job training
B | Self paced training
Cc | Off the job training
D |Classroom training

Correct Ans: D

Itemcode : RM1025
Q25: The Constitution of India came into force on

A

January 26, 1947

January 26, 1950

C

August 26, 1950

D

January 26, 1951

Correct Ans: B

Itemcode : RM1026
Q26: Which of the following is not a fundamental right

A |Right against Exploitation

B | Right to Constitutional Remedies
C |Cultural and Educational Rights
D |Right to employment

Correct Ans: D

Sunday, November 8, 2020

Page 5 of 21



Itemcode : RM1027

Q27: A is a draft statute which becomes law after it is passed by the
Houses of Parliament and assented to by the President

Bill, both

Bill, any one of

A
B |Ordinance, both
Cc
D

Note, both

Correct Ans: A

Itemcode : RM1028

Q28: imposing the fundamental duties on every citizen of India was inserted by the Constitution
(Forty-second Amendment) Act, 1976.

A |Article 51 A
B |Article 55 A
C |Article 61 A
D |Article 65 A

Correct Ans: A

Itemcode : RM1029
Q29: The Courts in the Indian legal system, broadly speaking, consist of

(i) the Supreme Court, (ii) the High Courts, and (iii)

The consumer courts

the subordinate courts

A
B
C | The family court
D

The civil court

Correct Ans: B

Itemcode : RM1030

Q30: play a vital role in the Parliamentary System. They are a vibrant link between the
Parliament, the Executive and the .

Parliamentary Committees, general public

Governors, Judiciary

A
B | Parliamentary Committees, Judiciary
C
D

Judiciary, general public

Correct Ans: A

Itemcode : RM1031
Q31: Which one of the following statements is false?

Judicial review allows a High Court Judge to examine the lawfulness of the decisions made by public bodies

A carrying out their public functions.

B |Judicial review is not available where there is a right of appeal against the decision of a public body.

'Public' means that the body making the decision is governmental and the decisions it makes concern the rights of

¢ citizens generally rather than purely private rights

D |Judicial review allows the High Court to review enactments

Correct Ans: B

Itemcode : RM1032
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Q32: Which one of the following statements is true?

With the exception of cases involving alleged breaches of Convention Rights incorporated by Sel of the Human
Rights Act 1998, judicial review focuses on the way public bodies make their decisions. The basis of a judicial
review claim is not that a decision is wrong, unless the decision is so wrong that no reasonable public body could
have reached it

B |In judicial review the court reverses the decision of the defendant public body

C | The grounds for judicial review are always contained in the statute conferring powers on public bodies

In judicial review the court replaces the decision of the defendant public body with its own decision on the merits

D of the claim

Correct Ans: A

Itemcode : RM1033
Q33: Which one of the following is the constitutional basis of judicial review?

A |Common Law

B |Statute

C |The rule of Law and the separation of powers

D |Equity

Correct Ans: C

Itemcode : RM1034
Q34: Which provisions contain the current procedural rules governing a judicial review claim?

A | The Senior Courts Act, 1981

The Pre Action Protocol for Judicial Review and Section One of Part 54 the Civil Procedure Rules enacted under the

B | Civil Procedure Act, 1997

C |Rules of the Supreme Court Order 53

D |The Human Rights Act, 1998

Correct Ans: B

Itemcode : RM1035
Q35: Which of the following cases supports the outcomes is all approach to judicial review?

A | Council of Civil Service Unions v Minister for the Civil Service [1985] AC 374

B |R v Gaming Board ex parte Beniam and Khaida (1970)

Cc |R v Barnsley MBC ex parte Hook (1976)

D |R (on the application Nasseri) v Secretary of State for the Home Department (2010)

Correct Ans: D

Itemcode : RM1036
Q36: A company is said to have been registered when

A | It files Memorandum of association and Articles of Association

B |It gets incorporation certificate with the Registrar of Companies.

C |It gets certificate for commencement of business.

D |It actually starts its business.

Correct Ans: B

Itemcode : RM1037
Q37: The Statutory Auditors of the company are appointed by

A |Shareholders in Annual General Meeting.
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B |Board of Directors.

c |Company Law Board.

D |Central Government.

Correct Ans: A

Itemcode : RM1038
Q38: Article of Association of a company can be altered by

A | A resolution of Board of Directors

B |An ordinary resolution in Annual General Meeting by the shareholders.

C | A special Resolution

D |Obtaining permission of the Company Law Tribunal.

Correct Ans: C

Itemcode : RM1039

Q39: In case of Public company, a company can pay remuneration to Director not more than %
A |11
B |12
c |15
D |18

Correct Ans: A

Itemcode : RM1040

Q40: In case of Public Company the quorum should be if the number of members as on the date of
meeting is more than one thousand but up to five thousand.

10 members personally present

15 members personally present

A
B |5 members personally present
C
D

30 members personally present

Correct Ans: C

Itemcode : RM1041

Q41: In case of a listed company, the report on Annual General Meeting should be prepared in addition to the
Minutes of the Annual General Meeting as per the Section 121 of Companies Act, 2013. Such report shall be
filed with the within of the conclusion of the Annual General Meeting.

Central Government, 30 Days

National Company Law Tribunal with 45 Days

A
B |Registrar of the Companies, 30 Days
C
D

Registrar of the Companies, 45 Days

Correct Ans: B

Itemcode : RM1042
Q42: The power of appointing additional director in a company can be exercised by the

A |Annual General Meeting

Board Meeting

B
C |Statutory Meeting
D

Extraordinary General Meeting
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Correct Ans: B

Itemcode : RM1043
Q43: The factors which caused variation of minimum wages in India are

I. Prices of essential commodities
II. Paying capacity
III.Productivity

1V. Differences in exchange rates.

Select the correct answer form the codes given below:

I only

I, III and IV

A
B |IV only
C
D

I, II, III and IV

Correct Ans: D

Itemcode : RM1044

Q44: Which of the following area, where central government is exclusively competent to enact
legislations

A |Trade unions; industrial and labour disputes

B | Social security and social insurance; employment and unemployment.

Welfare of labour including conditions of work, provident funds, employers’ liability, workmen’s compensation,

¢ invalidity and old age pensions and maternity benefits

D |Regulation of labour and safety in mines and oilfields

Correct Ans: D

Itemcode : RM1045

Q45: The verification of membership of unions operating in establishment in central sphere is conducted by Chief
Labour Commissioner office under Code of Discipline for the purpose of granting recognition as and when
directed by the

Ministry of Labour and Employment.

Labour Tribunal

A
B |ESI Corporation
C
D

Office Bearer of Trade Union

Correct Ans: A

Itemcode : RM1046

Q46: The employer is required to send a report to the Commissioner for workmen’s compensation within
days of the death or serious injury of the workman.

A |7 days
B |8 days
C |10 days
D |14 days

Correct Ans: A

Itemcode : RM1047
Q47: The Factories employing more than 1000 workers are required to submit their plan for approval to

A |Deputy Chief Inspector of Factories
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B |Joint Chief Inspector of Factories

C | Chief Inspector of Factories

D |Additional Chief Inspector of Factories

Correct Ans: C

Itemcode : RM1048

Q48: have been set up under the provisions of Industrial Dispute Act, 1947 for adjudication
of industrial disputes in an organisation.

Lok-Adalat

Labour Court

A
B |Industrial Tribunal
C
D

All of the above

Correct Ans: B,C

Itemcode : RM1049

Q49: Violation of the Child Labour (Prohlbltlon & Regulation) Act, 1986 shall be punishable with imprisonment for a
term not be less than

one month

three months

A
B
C |six months
D

one year

Correct Ans: C

Itemcode : RM1050

Q50: As per the Labour Laws (Exemption from Furnishing Returns and Maintaining Registers by Certain
Establishments) Act, 1988, an employer of any small establishment or very small establishment is required to
furnishes a Core Return in

A |[Form A
B |Form B
c |Form D
D |Form E

Correct Ans: A

Itemcode : RM1051
Q51: Which is the correct statement?

A Board of Road Transport Corporation shall consist of a Chairman and such Directors being :

Not less than five and not more than seven

Not less than six and not more than eight

A
B |Not less than three and not more than five
(o}
D

Not less than two and not more than five

Correct Ans: S (S Denotes question scrapped and no credit to Candidates.)

Itemcode : RM1052
Q52: The Meetings of Board of Transport Corporation shall meet:

A | At least once in every year.

B | At least once in every two months
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C | At least once in every three months

D | At least once in every six months

Correct Ans: C

Itemcode : RM1053
Q53: Which of the following statements / Statements is / are not correct?

(I) Every Transport Corporation shall consist of a Managing Director, a Chief Accounts Officer and a financial
Advisory appointed by the state government.

(II) Same person may not be appointed as Chief Accounts Officer and Financial Advisor

(III) A Secretary may be appointed by the State of government for efficient discharge of Board's functions.
(IV) The State government may constitute one or more Advisory councils with the consultation of the
Corporation.

CODES:

(II) is not correct

(I),(1I), (III) are not correct

A
B |(II) and (III) are not correct
c
D

(I), (II), (III), (IV) all are not correct.

Correct Ans: B

Itemcode : RM1054
Q54: Read both Assertion (A) and Reason (R) and give the correct answer by using the codes given below.

Assertion (A). A Corporation can establish one or more Subsidiary corporation with the concurrence of the State
government and the central government, if expedient or necessary to do so for more efficient discharge of its
functions.

Reason (R) : A Subsidiary Corporation shall have a Managing Director, A Chief Accounts Officer and a Financial
Advisory or a Chief Accounts Officer cum Financial Advisor and such Officers to be appointed by the state
Government.

Codes :

Both (A) and (R) are correct and (R) is correct explanation of (A).

(A) is correct but (R) is wrong.

A
B |Both (A) and (R) are correct but (R) is not correct explanation of (A).
Cc
D

(A) is wrong but (R) is correct.

Correct Ans: B

Itemcode : RM1055
Q55: Match List I with List II and give the correct answer by using the codes given below:

ListI List II
(Heading) (Chapters of Road Transport Corporation Act, 1950)
{O Powers and Duties of Corporation. (a) Chapter III
(II)  Subsidiary Corporations (b) Chapter II
(IIT1) Finance, Accounts and Audit (c) Chapter ITA
(IV) Road Transport Corporation (d) Chapter IV
A | I-@, II- (c). III-(d). IvV-(b)
g | I-(d). II—(b). III-(c). IV-(a)
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I-(b). II-(c). 111 —(d). IV-(a)

D

I-(. II-(b). I - (a), IV —(d)

Correct Ans: A

Itemcode : RM1056
Q56: Match List I with List II and give the correct answer by using the codes given below :

ListI List IT
(Provisions) (Sections of Road Transport Corporation Act)
(a) Management of Corporation and (1)) Section 19
Board of Directors
(b) Appointment of Advisory Council (II)  Section27
(c) Powers of Corporation (IIT)  Section 5
(d) Fund of Corporation (IV) Section 17
Codes:
A a—(). b—(I). c— (IID), d-(1IV)
B a—(1I). b — (III). c—(IV). d-(1)
c | a—-(aV). b—(II). c— (D). d-(@)
D a— (III). b—(IV). (D). d-(1I)

Correct Ans: D

Itemcode : RM1057

Q57: Which of the following pairs are not correctly matched in term of definitions given under the
provisions of Industrial Disputes Act, 19477
@O Definition of Emplover — Section 2(g)
(II)  Definition of Industry — Section 2(K)
(III) Definition of Industrial Disputes — Section 2(j)
(IV) Definition of Tribunal — Section 2(11)
Codes:
A [Only (II)
B |(I), (II) and (III)
¢ |(11) and (III)
D |(I), (II), (III), (IV)

Correct Ans: S (S Denotes question scrapped and no credit to Candidates.)

Itemcode : RM1058
Q58: Which of the following statement is true?

A

All Government departments are industry.

No Government department can be industry.

Government department carrying on business or trade may be industry.

B
Cc
D

Government department carrying on only sovereign functions may be industry.
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Correct Ans: C

Itemcode : RM1059
Q59: Under which section of the Industrial Disputes Act, an individual Dispute is deemed to be Industrial Dispute?

A |Section 2

B |Section 2A

C |Section 3

D |Section 5

Correct Ans: B

Itemcode : RM1060

Q60: In which of the following cases 'The court reiterated the well-known legal proposition that even a temporary
worker can claim retrenchment compensation, if he is covered by the provisions of Section 25F of the Industrial
Disputes Act, 19477

Tatanagar Foundary Co. V. Their Workmen

Barsi Light Railway Co; Ltd. v. Joglekar

A

B |Management of Will Cox Buck well (India) Ltd. v. Jaganath.
(o

D

Modern Stories v. Krishandas

Correct Ans: B

Itemcode : RM1061
Q61: Read both assertion (A) and Reason (R) and give the correct answer by using the codes given below :

Assertion (A): Before Bangalore Water Supply case educational Intuitions were excluded from the definition of
an "Industry".

Reason (R) : Main purpose of such educational institutions is to impart education and not to run business or
trade.

Codes :

Both (A) and (R) are correct and (R) is correct explanation of (A).

Both (A) and (R) are correct but (R) is not correct explanations of (A).

A

B

c |(A) is correct (R) is wrong.
D

(A) is wrong but (R) is correct.

Correct Ans: A

Itemcode : RM1062
Q62: Match List I with List II and select the correct answer using the codes given below :

List I List IT
(Subject) (Judicial Decisions)

(a) Lock out D Lalit Hari Avurvedic College Pharmacy v. Workers
and Hospital Union

(b) Lay off (II)  A.P. Dairy Development Corp. Federation Ltd. v. Presiding
Officer Labour Court, Guntur.

(c) Industrial Dispute (III) Workman v. Firestone Tyre and Rubber Company.

(d) Industry (IV) Kairbeta Estate V. Rajmenickam.

Codes:

A a—(D), b—(II), c—(III). d-1IV)
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B | a—(ID. b— (V). c=(D. d-{D
c | a—(D. b—-(D. c— (D). d-(1V)
p | a—V). b — (III). c— (D). d-D)

Correct Ans: D

Itemcode : RM1063

Q63: Match List I with List II and give the correct answer by using the codes given below :

ListI
(Definitions)
(a) Combine harvester
(b) "E-rickshaw".
(c) "Intemational Driving Permit"

(d) "Modular Hydraulic trailor”

List IT
(Sections of the Central Motor Vehicles Rules, 1989)
(I) Section 2 (cb)
(II) Section 2 (t)
(III) Section 2 (x)
(IV) Section 2 (ca)

Codes :

A | 2. b — (II). o (IID), d-@av)
g | a-ab. b-(@I),  Q@V). d-(0)
c | a—@V). b—(D). c— (D). d-(1II)
D | a—(II). b-@V), (D, d-(0)

Correct Ans: C

Itemcode : RM1064

Q64: A 'Medical Certificate' to be submitted for issue of learners license or a driving license under Section 5 of the

Central Motor Vehicles Rules, 1989 must be issued by :

A Chief Medical Officer.

A Registered Medical practitioner.

A
B |A MBBS doctor.
C
D

A Civil Surgeon.

Correct Ans: C

Itemcode : RM1065

Q65: What is the minimum educational qualifications for driving transport vehicles, under CMV Rules, 1989?

A |10th Standard.

B | No educational qualifications.

C |8th standard.

D |Graduation.

Correct Ans: B

Itemcode : RM1066

Q66: Under which of the following Section of The Central Motor Vehicles Act, the provisions for learners License

Exist?

A |Section 11
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B |Section 10
C |Section 14
D |Section 15

Correct Ans: S

(S Denotes question scrapped and no credit to Candidates.)

Itemcode : RM1067

Q67: No person shall appear for the test of competence to drive unless he has held a learners license for a period of

at least :
A |Thirty Days.
B |Sixty Days.
C |Ninety Days.
D

One-Eighty Days.

Correct Ans: A

Itemcode : RM1068

Q68: No person shall drive a Transport Vehicle in any public place, under Section 4 of the Motor Vehicles Act, 1988, if

under the age of :

A |16 Years.
B |18 Years.
C |20 Years.
D |21 Years.

Correct Ans: C

Itemcode : RM1069

Q69: Under which of the following Section of Motor Vehicles Act, 1988, The provisions for the Renewal of driving

License Exist?

A |Section 8

B |Section 12
C |Section 16
D |Section 15

Correct Ans: D

Itemcode : RM1070
Q70: Match List I with List II and give the correct answer by using the codes given below :

ListI
(Provisions)
(a) Grant of Driving Licenses
(b) Suspension or cancellations
of driving licenses on conviction
(c) Cancellation of registration

(d) Revocation of driving license on
grounds of disease or disability.

List II
(Sections of Motor Vehicles Act, 1988)
(I) Section 55
(II) Section 9

(III) Section 22
(IV) Section 16

Codes:
A | a—(IV). b—(D). c—(1I). d-(1I)
B | a—(). b— (III). c— (D). d-(IV)
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c |a—(D.

b— (D), c— (11D,

d-(IVv)

p | a— (D).

b-(IV). c=(D.

d-Qn

Correct Ans: B

Itemcode : RM1071

Q71: Under which of the following sections of the Motor Transport Workers Act, the Registration of Motor Transport

undertaking is required?

Section 4

Section 5

A
B |Section 3
C
D

Section 8

Correct Ans: B

Itemcode : RM1072

Q72: Under which of the following chapter of Motor Transport Workers Act, the provisions relating to "Welfare and

Health" a

re made?

Chapter 11

Chapter V

A
B |Chapter IV
C
D

Chapter VI

Correct Ans: B

Itemcode : RM1073
Q73: No adult motor transport worker shall be required or allowed to work more than :

A |6 hoursina

ny day.

B |7 hoursin a

ny day.

C [8 hoursina

ny day.

D |5 hoursina

ny day.

Correct Ans: C

Itemcode : RM10

Q74: Match List I with List II and give the correct answers by using the codes given below :

74

ListI List IT
(Provisions) (Sections of Motor Transport Workers Act)
(a) Powers of Inspectors (I) Section 23
(b) Certifving Surgeons (II) Section 5
(c) Annual leave with wages. (IIT) Section 7
(d) Certificate of fitness (IV) Section 27
Codes:
A | a—(ID), b—(III), c— (IV), d-(1)
B |a—(I). b—(I), c—(I1D), d-(1IV)
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a— (III). b—(IV). c— (D). d—(II)

p | a— (V). b — (III). c—(II). d-()

Correct Ans: A

Itemcode : RM1075

Q75: Whoever shall contravene the provisions regarding employment of Motor Transport Workers under the Motor
Transport Workers Act, shall be punishable with imprisonment for a term which may extend to :

One month

Two months

A
B
C |Three months
D

Six months

Correct Ans: C

Itemcode : RM1076

Q76: What is the punishment for travelling without ticket or with insufficient ticket or beyond authorized distance,
under the provisions of HP Prevention of Ticketless Travel in Road Transport Service Act, 19767

Imprisonment for a term which may extend to three months and a fine upto Rs.200.

Imprisonment for a term which may extend upto two months or a fine Rs.500.

A
B |Imprisonment for a term which may extend to one month or a fine which may extend upto Rs.250.
C
D

Imprisonment for a term which may extend upto six months or a fine Rs.1,000.

Correct Ans: B

Itemcode : RM1077

Q77: Which of the following section of the HP Prevention of Ticketless travel in Road Transport Service Act lays down
the provisions to remove persons without ticket, from motor vehicle?

Section 6

Section 8

A
B |Section 7
c
D

Section 9

Correct Ans: C

Itemcode : RM1078
Q78: All offences under the HP prevention of ticketless travel in Road Transport Service Act shall be triable by.

A |District and Session Judge.

B |Judicial Magistrate Ist Class.

Cc | Chief Judicial Magistrate

D |Magistrate having jurisdiction in the area and especially empowered by the High Court under section 260 Cr.P.C.

Correct Ans: D

Itemcode : RM1079

Q79: Any person who willfully obstructs or impedes any servant of the State Transport undertakings, in the discharge
of his duty, shall be punishable with imprisonment which may extend to :

A |Three months.
B |Two months.
C |Six months.

D |One Year.
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Correct Ans: A

Itemcode : RM1080

Q80: The punishment for breach of duty by the servant of the State Transport undertaking or any agent under the
H.P. Prevention of Ticketless Travel in Road Transport Service Act is laid down under :

Section 6

Section 8

A
B |Section 7
C
D

Section 9

Correct Ans: B

Itemcode : RM1081
Q81: In which District of Himachal Pradesh is Kalasar lake?

A |Mandi

B |Kullu

C |Shimla
D |Chamba

Correct Ans: A

Itemcode : RM1082
Q82: Bhadal stream is a tributary of

A |Satluj

B |Ravi

C |Beas

D |Yamuna

Correct Ans: B

Itemcode : RM1083
Q83: Which pass joins Kinnaur and Garhwal?

A |Telang
B |Shinka
C |Kugti
D |Drati

Correct Ans: B

Itemcode : RM1084
Q84: Where is Mrikula Devi temple?

A |Udaipur
B |Kardang
Cc |Keylong
D |Kullu

Correct Ans: A

Itemcode : RM1085
Q85: Shikari Devi sanctuary is near

A |Jogindernagar
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B |Sundernagar
C |Sarkaghat
D |Dharampur

Correct Ans: B

Itemcode : RM1086

Q86: At which place in Kangra District of Himachal Pradesh there is a Rabbit Breeding Farm?

A |Harchakian

B |Kandwari

C |Nurpur

D [None of these.

Correct Ans: B

Itemcode : RM1087
Q87: In which year did Kinnaur become a District?

A |1960
B |1966
c |1971
D |1972

Correct Ans: A

Itemcode : RM1088
Q88: In which district of Himachal Pradesh is Gosota fair held?

A | Bilaspur
B |Hamirpur
C |Una

D |Kangra

Correct Ans: B

Itemcode : RM1089
Q89: Which place in Kangra District is known for rock-cut temples?

A |Chetru
B |Fatehpur
Cc |Pathiar
D |Masrur

Correct Ans: D

Itemcode : RM1090
Q90: Who was the speaker of H.P. Vidhan Sabha elected in 19827

A |Vijay Kumar

B |Rana Kultar Chand
C |Sarwan Kumar

D |Thakur Sen Negi

Correct Ans: D
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Itemcode : RM1091
Q91: In which State of India is Apatami tribe mainly found?

A |Nagaland

B |Arunachal Pradesh

C |Assam

D |Meghalaya

Correct Ans: B

Itemcode : RM1092

Q92: Around which year was entry of women officers in the Indian army started?

A 1962
B (1971
C (1988
D |1992

Correct Ans: D

Itemcode : RM1093
Q93: Birju Maharajis a/ an

A |Actor

B |Singer
c |Dancer
D |Painter

Correct Ans: C

Itemcode : RM1094

Q94: Which Vice President of India held office for minimum term?

A |G.S. Pathak

B [V.V. Giri

C |Krishan Kant

D [B.D. Jatti

Correct Ans: B

Itemcode : RM1095
Q95: Who is considered the father of surgery in India?

A |Sushruta

B |Atreya

C |Charaka

D |None of these

Correct Ans: A

Itemcode : RM1096
Q96: Who is the author of A Tale of Two Cities?

A |Daniel Defoe

B |Victor Hugo

C |Pearl S. Buck
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D |Charles Dickens

Correct Ans: D

Itemcode : RM1097
Q97: Which planet is mainly composed of Hydrogen and Helium?

A |Saturn

B |Jupiter

C |Mercury

D |Venus

Correct Ans: A

Itemcode : RM1098
Q98: Who discovered X-Rays?

A |Roentgen
B |Herschel
c [Ohm

D |Seaborg

Correct Ans: A

Itemcode : RM1099
Q99: Which instrument is used to measure the purity of milk?

A | Odometer

B |Hygrometer

C |Lactometer

D |Barometer

Correct Ans: C

Itemcode : RM1100
Q100: Where is the headquarters of South Central Zone of Indian Railways?

A |Chennai

B |Hubli

Cc |Bangaluru

D |Secunderabad

Correct Ans: D
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